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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) olemefi wdwem T T R AR sfrara: ol

Candidate must write first his / her Roll No. on the question paper

compulsorily.
2) wf v g W HiEd g
All the questions are compulsory.
3) e Tvd @1 S & T Iw-gier § § !
Write the answer to each question in the given answer-

fom wwi & e @ue 3, T wh % e o A fl

book only.

4)
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) ww-mwfEa it et A faret s A R/ afe / Fedvevn R R
¥ WA =1 HE A
If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid. ‘

6) s s 21 23 s e

Q. No. 21 10 23.
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Question -

1)
Multiple Choice

) ion of answe
P correct optio rs . .
Write the of the following questions in the answer

book-

o I T (1]
(o1) R () wzdn
(@) ufsfen T (3) ew

Example of hormone which inhibits growth is -

(A) Gibberelin (B) Cytokinin

(C) Abscisic acid (D) Insulin

i) wfEass T HITET AR IR 1 AR T dgen & foe Swerh 32 1]
(31) seiER (@) R
(@) srHias (3) weAiEwh
Which part of brain is responsib]e for maintaining the posture and balance
of body?
(A) Cerebrum (B) Fore - brain
(C) Cerebellum (D) Mid-brain
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i) RrYy sieh i 1 g R € -
(31) W@, g
(@) FieR, e
(|) &, den
(®) ghw,

External feature of genotype RrYy will be-

(A) Round, Green
(B) Wrinkled, Yellow
(C) Round, Yellow

(D) Wrinkled, Green

iv) or & TR S = I g

() T St

(@) wgE
(@) <higen

(3) HS

Example of renewable source of energy is

(A) Wind energy
(B) Petrol
(C) Coal

(D) Wood

y-()7-Science
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X i (1]
( ' m)aﬁa
() aUrRd -
The old concept of water hy, (3)
: ®Stipg in Rajasthan is -
(A) Khadin
(B) Bundhis
(C) Bandharas
(D) Kulh
vi) ﬁqﬂqﬁﬂﬁ,aﬁw (x) &1 A gy,
amﬁ@ By
FHTqfaw fasmon
30° | x _—

FL8r7rss ff’f'/ffff;’?”

() 60° @ o
(W) 45° 9 e

In the given figure, the value of angle (x) will be -

N ormal

Incident ray
Reﬂectcd ray

7
T rrr 77Ty
(B) 90°

(D) 30°

(A) 60°
(C) 45°
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vii) i @ afvwf fabE w2 [1]
(31) STy Al (@) = da f wea g0
(@) gl @ seR (G5 (3) Fresta oha it sl
The muscles of the iris controls
(A) Optic nerves (B) Focal length of the eye lens
(C) Size of pupil (D) Shape of crystalline lens
viii) kwh fre «tfs Tl = WA €¢ 3y
(a0) wiF (®) forget 3
(@) waw (x) =t
Which physical quantity has kWh as its unit?
(A) power (B) electric energy
(C) momentum (D) force
[1]

ix) aﬁnﬁaﬁmﬁﬁéﬁm&qmﬁ@q&wﬁgﬁa(y)aﬁmﬁ%l

+ | 1=
l

} |
g

(B) key
(D) ammeter

(A) voltmeter
(C) electric cell

1203 { Turn Over

5-07-Science



6
X) Wﬁﬁ%mmﬁﬁ%%ﬁmg_ (1]

(=) m (@) AP

(@) Frgofte _ () faRwE

The process of black coatip On gjjver in environment is -
(A) Reduction (B) Corrosion

(C) Rancidity (D) Double displacement

xi) Al Fe 7t Zn t Saiem o

(31) Fe <Zn < Al @) Fe < Al < 71
(®) Al<Fe<Zn @) Al<7zn<Fe
The correct ascending Order of rep oy ;. of AL, Fe and Zn is -
(A) Fe <Zn < Al (B) Fe<alcyy
(C) Al<Fe<Zn (D) Al <Zn < Be

“ﬁm'ﬁq%— i

xii) CH,COOH+CH,-CH,OH =, \[A] +H,0 sasm FRBrm i W [A]R -

[1]
(%) CH,~CH,-O-CH,-CH,

(%) CH,~CH,-COOCH,

(®) H—(E!—O—CHz—CHz—CH3
0

() CH,-C-O-CH,-CH,

O
CH3COOH+CH3-CH20H =add , [A] + H,O Compound [A] in above
reaction is -

(A) CH ;~CH~0O-CH ~CH,
(B) CH ,—CH "COOCH
(9) H-—C-—O-CH —CHz"CH3
O
(D) CHs-—»J(i}_O__CHz__CH3
0

-07-Seience



2) fieh Tl B gfd Hifdm -

Fill in the blank places -

) TAHTEIEmAM PR L g [1]

The saliva contains an enzyme Called saljvary

i) R TE W W 9 R R 39 TER Sam o i) s §9 d 996 9 ®

........... R [1]
Advantage of vegetative propagation is that all plants produced by this are
genetically to the parent plant.

i) oered it A W g e A R E, ... FEETR B (1]

Substances that are decomposed by biological processes are called

] ]

iv) Gaw % T gal H TR i T 2 1]
Like poles of magnet with each other.
v) foret ¥ SfRA ST i TEIERE T connvenionese 2 (11

Chemical name of acid present in vinegar is

vi) meﬁmﬁﬁa@ﬂﬁﬂﬁw .............. H 3

Number of elements present if third period of modern periodic table are

[ 1203 ]
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3) Ewwtﬁmm%%m%mﬁﬁﬁ )

swer type questioy, :
Very short an 1 (AnSwa the question ip one word or in o
g

line.)
st 1 faen Y AR |
g Pty Frifi et 22 o
; hanism regulaga,
Which mec S the getion of a hormone?

i wgEE gﬁhwﬁaﬁ@%m%f |

o (1
: f an organism ¢} o
Write name © at exhibjtg multiple fission.

iii) W?ﬂq%mlllﬁ@ﬁmﬁﬁﬁmﬁwl 1
Write one disadvantage of using fogsi] fy e

) W%WW@WWI (1)
Give one example of abiotic component of ecosystem,

v) 3 sifoe afiel P = SQw Q = § x 107 Q x m & = & wwr o =
R P a Q% @ o iR ]

Write the corresponding values of two physical quantities P and Q for

which the length of conductor P = 5Q and Q = 8 x 10~ Q x m are reduced
to half.

vi) ﬂ?’.ﬁ%’*‘*"ﬂﬁ‘i*@ﬁ@~@ﬁm_@ﬂ 7 T ]

Why two magnetic field Jjpe, do not intersect to each other?
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vii) mwmmﬂ%%wmwmmmaﬁﬁmwm

for o
ES iRl 1]

Draw diagram to show lines of magnegic field inside and around a current
carrying solenoid.

viii) Sarefrie sifirfier @ aRfa B, (1

Define neutralisation reaction.

1X) aﬂgﬁ&'Sﬂaﬁﬁﬂ'ﬂ%ﬂm (1]

Wirite modem periodic law.

)é) CuO + H, —m_,Cu + H,0 _
I HNTRaT § S| 2R T s s T Raien) i
CuO + H, __Hat  Cu+ HO

Write the name of reactant reduced in above reaction.

xi) IErEE, f aun wifeaw § @ we wor werd w1 am faRem) [1]

Write name of hardest substance among iodine, diamond and sodium.

xii) e Ht gergi fig e H bR S (1]

Draw electron dot structure of methane.

12
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Spe
HLQ._:]‘\HJ\J -B

L -
Sl

m_mﬁwﬂ‘tﬂ 16%
IR T geegfRE # R 1 (s e 50 v

uestion-Wriy
Short answer type qtit=" € the _
answer book (Word limit 50 WO"dS) nswers of question number 04 to 16 in

Define life processes.

Define unisexual flower and write twe eXampieg g [L+Y241/2=2)
Sof it

6) ST X TR & ST F AR Ry gy

Draw a labelled diagram of the geminatioy of pollenora; 2]
S'aIns on the stigrma.

7 e % faftw vt % o st & e W gy

Explain the flow of energy between varioys Components of the env; (2]
HVII'OHETIEI]

L.
8) 1) ﬁw%mﬁqﬁrma"ﬁm

i) m%m—mm%mﬁmﬁﬁammm%m

1) Define magnification of lens, i

ii) Write name of ' '
spherical mirror ygsed as rear-view mirror in vehicles.

9) 1) %g’dﬁ“?méﬁqﬁumw'

11) & A
I TR R S g e R
1) Define electric Potential digp, [1+1=2
ence.

ii)  Write names of 5 w
ny t : ' '
Y two devices pased on Joule's law of heating.
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10) o o 1 o2 At v 3 HE T R e iy 2]

. inatg ] , )
Derive the formula for the combiUon of three resistors connected in series.

11) mwvﬁwﬁﬁm:%@“ﬁﬁ{w)aﬁm(wﬁ)mﬁﬁmﬂ%?
C12)

Why are the household electric CHCUits, the ¢lectric appliances (instruments)

. s 3
counected in parallel combination-

12) i) ST T SR (aﬁm)ﬁuﬂ%ﬁg&[

i) frem g o7 w5 oReie AR
[1+1=2]

i) Write Fleming's left-hand rule.
ii) Define electromagnetic induction.

13) weia v e = affes ik [1+1=2]

Define roasting and calcination.

14) ﬁmﬂw%m&%ﬁwﬁmﬁ%ﬁwm%ﬁ;ﬂ
i) Na
i) 443K @e R "y H,SO, | |
Write the balanced equations of chemical reactions of ethanol with following
reagents -
i) Na
iiy Concentrated H,SO, at 443K temperature
2}
[15) ATgT < fde =t fafira HRTl t
| Draw the micelle structure of soap.
: 2]
}6) ien % s Rigr TR
Explain Newland's law of octaves.

i | 1203 [Turn Over
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mt.‘ﬂ
-_‘"'--....,______,._

i IR W w17 R 2nﬁmmﬂ%ftﬂql(mﬁm100m)

Long answer typ¢ question-Write ¢, answers of question number 17 to 20 in
answer book (Word limit 100 worqyg,

17)

18)

19)

20)

ey A Ffa gt A T R H e

[1+2=3]

Write the name and two functions of (he hormane secreted by ovaries.

T ve ey S @ aReniia i)

Define homologous and analogous organs.

D i et = wdid g 2 7 JeeEd|
i) TR Y Ea (Rae) o @ E i g g

i)  Why do stars seem to twinkle? Explain.

1) Why are the danger signals red in colour?

i) wara sl
i) foarm sifufrar

Explain the following by giving ope example of each -
1)  Combination reaction

1)) Decomposition reaction

S-07-Science :{@j

(1Va+1V2=3)
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‘l!ug_.q
-‘-h-‘-—-"_——-

SECTION .

fraraTer S-S g 21 @ 23 F TR Tmgfere § R (v @ 250 wi)

Essay type question-Write the answerS of question number 21 to 23 in answer

book (Word limit 250 words)

21) i) AEEE TEEA ® i Sk
if) I 9 7 3 w2 Al
iif) TS YR et AR fors )

[1+2+1=4]
1} Define aerobic respiration.
i1) Explain air - passage of ﬁuman respiratory system.
iii) Draw a labelled diagram of human respiratory system.
FAeEr/OR
i) ared @ g S
)" Y % arem § aRtie T H g B EEse|
iii) we % UTeA 7 (HATERAA) ﬁémhm:mi%ﬁﬂa#rsr{l
[1+2+1=4]

i)  Define digestion.
Explain role of pancreatic juice in the digestion of food.

ii)
the structure of human alimentary canal.

iii) Draw a labelled diagram of

[ Turn Qver
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5y af? us T adur €y
ii) AT fre 14 Cm?aagmﬁ‘ruﬁmajim@ﬁmu 2

+2z4)

i) Draw ray diagrap, for 1

: et im __ > mirror '
is placed at i(g focus ( 8¢ formggion by concave mirror when the Objeg

F).

ii) If the radius of “Urvature o
length. °U'a spherical mirror is 14 cm then find its focy)

) 1If the power of a lens js + 2.5 D, then find its focal lenoth
ength.

e

) Write a
i Wh ' one example of Olfactory indicator
e precipitate of |
, C .
245 i lime g0, - ezmpound [A] is formed op Passing carbondioxi
then a water solubje COH:"«‘SS Quantity of the carbondioxidz is oa n (Ijorj(ldF
[AJ & [BJ and equatio, DOund [B] IS me]Ed. Wnte Chefnj_c ] pussed in 1
1S of & emical reactions involved * formulze o

[ 1203 ]
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1)
it)

i)

15

g Wt =1 pH " fafeel

i et 3 T TEEEE I R e &
Wmﬁﬂ%%l[A]%mﬁﬁmﬁ%m
e 2 | [A] T TR T A R

AT (Al T 2 [A] =
na[i%“ﬁm@&ﬁqm
Teafis Fturmait % wiemn fRen

[1+3=4]
Write pH value of pure wateft-

Compound [A] is formed bY the reaction of sodium carbonate with
hydrochloric acid. [A] is also called as common salt. Sodiumhydroxide is

formed on passing electricity in aqueous solution of [A]. Write chemical
name of [A] and equations of Chemical reactions involved.
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